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CHAPTER 6
CASE STUDY: MILO CEREAL 
QUESTIONS 

1. Do you think Nestlé should have launched the Milo and Cheerios breakfast cereals simultaneously? What would the advantages and disadvantages be of launching these two products together?

GUIDELINE

Depending on the motivation provided to substantiate the answer given by learners, it would probably have been best to introduce the products together. Reasons include:

· Milo is well known and much loved in South Africa

· Cheerios could gain faster awareness and acceptance in the market due to its association with Milo

· Both products are from the same product line, thereby probably resulting in:

· Lower advertising and promotional costs

· Economies of scale

· Distribution efficiencies, etc.
Launching these products (in the same product line) together could hold the following advantages: 

· Reduced production and packaging costs: packaging costs are reduced since a product line’s individual product items usually have the same or similar packaging, although they may still have individual identities . Production costs are also reduced by achieving economies of scale when buying more, and standardised, ingredients.

· Advertising economies: instead of advertising individual product items, organisations gain economies of scale by adverting product lines. 

· Distribution efficiencies: retailers are usually more willing to stock manufacturers’ products when a full line is offered to final consumers as opposed to individual products. Also, manufacturers with established distribution networks would be able to use their existing networks (and methods of transportation) to introduce new product items more effectively to the current target market.

· Competitive advantage: competitors are faced with two similar products attracting different market segments – thereby increasing the chances of customers switching to these new products.

· Consumers perceive products in the same product line to be of similar quality. 

· Manufacturers offering product lines would probably increase their revenue by addressing different needs expressed by the target market than what would be the case if a single product item was offered.
Arguably the biggest disadvantage of launching the two products together is that Cheerios, which is unknown in South Africa, could not be accepted by the market, thereby possibly damaging the image of the (also newly launched) Milo cereal (and possibly also the Milo brand name).

2. Explain why Nestlé’s Milo breakfast cereal is classified as a convenience product and not as a shopping product.

GUIDELINE

Convenience products (such as Milo cereal) are:

· frequently purchased

· low cost products

· require very little purchasing effort from the consumer

· consumers seldom compare different convenience product options

· although convenience product’s brands are important, consumers will probably buy a competing brand if the preferred option is not available. 
In contrast, shopping products are:

· more complex than convenience products

· purchased less frequently than convenience products

· consumers often don’t have up-to-date information to make a purchase decision regarding shopping products

· consumers spend more time and effort when buying shopping products

· consumers will compare different brands on a variety of attributes, for example price, quality and style

· shopping products are furthermore relatively expensive

· shopping products are sold at fewer outlets

 From this comparison, it can be seen that Milo cereal can be classified as a convenience and not a shopping product

3. Do you think Nestlé should introduce Nesquik breakfast cereal in South Africa? What would the advantages and disadvantages be to Nestlé of introducing this product?

GUIDELINE
Nestlé should probably first do research to determine consumer perceptions of Nesquik as a breakfast cereal. Nestlé could, as with the introduction of Milo, gain faster market awareness and acceptance due to the perception, popularity and success of Nesquik.

Since Nesquik would be a third cereal to be introduced (in addition to Milo and Cheerios), Nestlé would probably enjoy the following advantages:

· Reduced production and packaging costs as much of the packaging, (possibly) ingredients and production processes would be the same (or very similar)

· Advertising economies in possibly promoting Nesquik, Milo and Cheerios cereals together

· Distribution efficiencies in distributing Nesquik, Milo and Cheerios cereals together

· Competitive advantage – Nesquik would offer yet another cereal to the target market, thereby possibly attracting customers from competitive products

· Introducing Nesquik would probably increase Nestlé’s revenue by addressing different needs expressed by the target market
Arguably the biggest disadvantages of launching Nesquik is that it could cannibalise market share from Milo and Cheerios cereals, or if not well accepted by the market, it could damage the image of Nesquik itself as well as the other cereals in the product line.

CASE STUDY: KELLOGG’S SPECIAL K BREAKFAST CEREAL 
QUESTIONS
1. Do you think Kellogg’s should have followed the same or different marketing approaches when launching the Special K breakfast cereal and the Special K cereal bars?

GUIDELINE
Kellogg’s could have followed the same or different marketing approaches, depending on the motivation provided by learners. Both products could, however, be introduced by using other Kellogg’s products to gain market awareness and acceptance. For example, Special K could be marketed together with other Kellogg’s cereals as an extension of the product line (and would therefore achieve benefits associated with organising products in a product line). Special K cereal bars could have been marketed together with Special K cereal as it appealed to the same target market. Also, samples of Special K bars could have been included with Special K cereal – the obvious target market for the product.

2. Do you think the adoption time for Special K cereal and the Special K cereal bars would have been the same? Clearly motivate your answer.

GUIDELINE
The adoption time would probably not be the same. Special K cereal would probably have had a longer adoption time than Special K cereal due to the following reasons:

· Special K cereal bars would achieve quicker awareness and  interest among the target market due to its association with the Special K cereal (in contrast, Special K cereal would possibly take longer to gain awareness due to its newness and questions as to who should be using the product, and possibly take more time to create interest among consumers)

· Existing users of Special K cereal would probably have made trial purchase of Special K bars quicker than what Kellogg’s cereal users would have Special K cereal. The possible reason for this is due to the same (and very specific) target market be targeted with what seems to be a practical product diversification.
3. As a prospective marketer, what would you consider the most valuable lessons to be learned from Kellogg’s approach to new product development as shown in this case study?

GUIDELINE
Despite launching a new product successfully in the market (Kellogg’s Special K Red Berries), Kellogg’s continued with the product development process by not only evaluating the product launch, but continuing with the product development process to develop new products that would satisfy customer needs.

DISCUSSION QUESTIONS
1. Explain what the core benefit, actual and augmented products are for both a Kodak digital camera and a Michel Herbelin watch.

GUIDELINE
	
	Kodak digital camera
	Michel Herbelin watch

	Core benefit (the actual benefit the consumer seeks by buying the product or service to fulfil a need)
	Memories 
	Method to tell the time 

	Actual product (the actual product or service consumers buy – those tangible and intangible attributes that give consumers the core benefit sought)
	Camera and its attributes and features, design
	Watch, its design, features and attributes

	Augmented product (those benefits, attributes or supporting services added to the actual product to exceed consumer expectations)
	Guarantees and training
	Guarantees, service received from seller 


2. Visit Beacon’s website (www.beacon.co.za) and compile their product mix in tabular form. Clearly show Beacon’s product line width and product line depth.

GUIDELINE
Visit Beacon’s website for the latest update. An example is provided below:

	Product mix

depth
	Product mix width

	
	Snacks
	Chocolate
	Sweets

	
	Bakes

Tinkies

TNT

Jungle energy bars


	Slabs

Bars (including Wonder Bar; Nosh; Black Cat; Now!; New Look & tv Bar)

Boxes & Assortments 
	Mellows

Gums & Jellies

Hard boiled candy

Chews

Etc. 


3. What benefits does Gillette get from grouping their shaving cream in a product line?

GUIDELINE
· Reduced production and packaging costs: packaging costs are reduced since a product line’s individual product items usually have the same or similar packaging, although they may still have individual identities.

· Advertising economies: instead of advertising individual product items, organisations gain economies of scale by adverting product lines. 

· Distribution efficiencies: retailers are usually more willing to stock manufacturers’ products when a full line is offered to final consumers as opposed to individual products. Also, manufacturers with established distribution networks would be able to use their existing networks (and methods of transportation) to introduce new product items more effectively to the current target market. Transportation and warehousing costs would probably also be less for product lines than for individual product items. 

· Competitive advantage: as opposed to selling only one product, manufacturers offering a product line stand to be less adversely affected in terms of losing revenue and profit if a competitor enters the market with a similar product;

· Perceived quality: consumers perceive products in the same product line to be of similar quality. Consumers are therefore more likely to try a new product from an existing product line as opposed to trying a single product item by an unknown manufacturer. 

· Increase revenue and profit: manufacturers offering product lines would probably increase their revenue by addressing different needs expressed by the target market than what would be the case if a single product item was offered. 

4. Suggest some criteria Simba could use to evaluate new product ideas.

GUIDELINE
Simba could use a number of criteria, including:

· whether the product idea meets Simba’s objectives

· the product idea’s compatibility with existing production capabilities

· the uniqueness of the new product idea

· the potential fit of the new product idea with the current marketing mix utilised by Simba
5. Tastic intends to launch a new product within the next 6 months. Advise them on the product adoption process by also suggesting some ways to speed up the new product’s adoption rate.
GUIDELINE
The product adoption process refers to the set of successive steps consumers go through from first becoming aware of a new product to the final decision whether to continue buying it or to reject it. The five stages of the product adoption process are:
· Awareness: the consumer becomes aware that a new product exists;

· Interest: potential buyers seek information about the new product;

· Evaluation: the consumer considers the product’s advantages and disadvantages and decides whether to try it;

· Trial: the consumer makes a trial purchase to determine its usefulness and if it meets his or her needs; and

· Adoption/rejection: if the outcome of the trial leads to consumer satisfaction, the consumer will buy the product regularly. However, if the consumer is dissatisfied with the trial purchase, the new product will be rejected and will not be purchased again.
Tastic could attempt to speed up the new product’s adoption rate through the following:

· Market the new product together with other Tastic products to gain awareness for the product (this would also suggest the quality of the new product to consumers)

· Provide as much as possible information regarding the product using various media, for example in-store promotions, advertisements and a dedicated website

· Encourage trial of the product by offering free samples of the new product – either together with existing Tastic products, or as stand-alone samples 
6. Advise Sam Kumalo, a new appointee at Placon’s product development department, about the likely causes for new product failure.

GUIDELINE
A new product could fail for a number of reasons, including:

· The most common reason for new product failure is lack of uniqueness. If the product is merely an imitation of products already available in the market, it could find itself lacking a distinctive point of difference.

· Inadequate market and product definition: it is essential before the product development process starts that what it sets out to achieve is clearly defined, including who the target market for the product will be, which needs, wants and preferences the product will set out to meet, and what the product itself will do.

· Poor timing could result in the product being launched too soon or too late in the product category’s life cycle. 

· Technical problems, especially if insufficient product testing took place, could result in failure. 

· Product developers could overestimate the market size and demand. 

· Poor marketing mix implementation could result in failure, especially if the new product is targeted at a new market. 
7. Distinguish between the marketing strategies to be followed during the introduction and maturity stages of the product life cycle.

GUIDELINE
Introduction stage of the product life cycle:

Concerning the product strategy, marketers will usually only offer a basic product with a limited number of models. Product modifications will occur frequently as to offer the market a ‘perfect’ product. The distribution strategy will entail a limited distribution of the product, probably using selective distribution. This is, however, highly dependent on the product. The pricing of the product could be high or low as different approaches can be followed during this stage. The promotion strategy could be one of the most critical elements during the introduction stage. Marketers will use advertising to create awareness for the product and to simulate demand. Trial purchase is encouraged through sales promotions to consumers, possibly including samples and discount vouchers, while distributors are targeted through intensive personal selling.

Maturity stage of the product life cycle:

Concerning the product strategy, marketers should diversify the product by offering a larger range of models. Service and repair becomes more important as marketers try to distinguish their products from competitors. The distribution strategy should focus on continuing building relationships and loyalty with distribution members. This is necessary since margins begin to fall, thereby necessitating commitment from distributors to continue supporting the product and providing sufficient shelve space to mature products. The prices of mature products tend to decline, necessitating the need to control costs while simultaneously trying to maintain product prices. The promotion strategy should focus on stimulating demand for the product by aggressively advertising the brand. Sales promotions can be offered to encourage consumers to switch from competitor brands.

	Marketing strategy
	Introduction
	Maturity

	Product 
	Basic
	Diversity brands and models 

	Price 
	High / low 
	Low

	Distribution 
	Selective 
	Intensive 

	Marketing communications 
	Inform consumers; encourage trial
	Stimulate demand 


MULTIPLE CHOICE QUESTIONS 

1. Which one of the following is not classified as consumer products?

a) unsought products 

b) convenience products 

c) specialty products 

d) shopping products 

e) none of the above 

2. Which of the following statements are incorrect?

a) convenience products are frequently purchased

b) very little time is spent planning the purchase of convenience products

c) convenience products are fairly expensive

d) convenience products are sold from many outlets

e) none of the above

3. Which of the following statements are incorrect?

a) the distribution channel for accessory equipment is relatively short and middlemen are used

b) the distribution channel for installations is very short and middlemen are used

c) the distribution channel for raw materials is short and no middlemen are used

d) the distribution channel for MRO supplies is long and middlemen are used

e) the distribution channel for component parts and materials is short and middlemen are used for small buyers

4. 
Which of the following statements are incorrect?

a) a brand refers to the name, sign, symbol, term, design or a combination of these elements used to identify an organisation’s products and distinguish it from those of competitors

b) the different components of the brand, used to identify it or to distinguish it from competitors, are called brand parts 

c) that part of the brand that can be verbalised is called the brand name

d) the brand mark refers to parts of the brand that cannot be verbalised

e) none of the above

5. The purpose of product labels is typically to:

a) identify the product, list ingredients and provide an expiry date

b) indicate how the product should be used and list warning associated with its usage or misuse

c) list product care information and includes a universal product or bar code

d) none of the above

e) a, b and c

6. In which of the following ways can products be differentiated from competitors? 

a) design, form, features, ease of delivery, performance quality, conformance quality, reliability and durability

b) design, form, features, customisation, performance quality, installation, reliability and durability

c) design, form, features, customisation, performance quality, training, reliability and durability

d) design, form, features, customisation, performance quality, conformance quality, reliability and durability

e) design, form, features, customisation, performance quality, maintenance and returns, reliability and durability

7. Which of the following is not a reason associated with offering a new product?

a) changing consumer needs

b) supporting short-term objectives

c) increased sales and profitability

d) product obsolescence

e) to replace products 

8. Ideas for new products can come from which of the following sources?

a) employees

b) consumers

c) competitors

d) a and b

e) a, b and c

9. Which of the following does not represent a way in which new product development can be organised within the organisational structure?

a) new product departments 

b) venture or virtual teams 

c) product or brand managers 

d) new product committees 

e) none of the above

10. The complexity of performing the business analysis during the new product development process depends on a number of factors. Which of the following is not one of these factors?

a) the nature of the product

b) the nature of the distribution channel

c) the newness of the product

d) the nature of competitors

e) the size of the market

11. 
Which of the following is not a step in building a service blueprint? 

a) map the process from the customer’s point of view

b) identify the consumer or customer segment experiencing the service

c) add evidence of service at each customer action step

d) map points of distribution member’s involvement

e) map contact employee actions, front- and back office, or technology actions

12. Which of the following are common causes for new product failures?

a) lack of uniqueness 

b) inadequate market and product definition and poor timing 

c) technical problems and product developers overestimating the market size and demand

d) b and c

e) a, b and c

13. Which of the following statements are incorrect?

a) innovators are usually willing to conduct product tests and provide feedback about the product, provided they receive the product at a lower price

b) early adopters enjoy the respect and prestige associated with owning the new product

c) the early majority spend more time deciding whether to try the product and will only adopt it if its benefits are proven. This group will also seek the opinions of innovators and early adopters before buying the product 

d) the late majority tends to be less responsive to change than the other groups and are more sceptical of new products

e) laggards are more uncomfortable with new technology and tend to be more price sensitive and will only adopt it if the majority of people have already tried it

14. 
Which of the following statements are correct?

a) the maturity stage of the PLC is characterised by low differentiation between products offered by competitors

b) the strategic objective during the growth stage of the PLC is to build the market as fast as possible to try and shut out competitors

c) initial sales increases during the introduction stage of the PLC can be attributed to early adopters buying the product

d) the PLC tells marketers the length of the product’s life cycle and suggests the marketing strategy to be followed during each stage of the PLC

e) the strategic objective during the declining stage of the plc is to spent as much as possible available resources on promoting the product in an attempt to revive sales and profits

15. Which of the following statements are incorrect?

a) consumers during the maturity stage of the PLC tends to be the early majority

b) sales during the maturity stage of the PLC tends to peak, slow down and then decline

c) competition during the maturity stage of the PLC tends to be many and then to decline

d) the distribution strategy during the maturity stage of the PLC tends to be intensive 

e) the marketing communications strategy during the maturity stage of the PLC focuses on stimulating demand 
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